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Roll No. ....................................

BSC-12 (Bachelor of Science)
CHEMISTRY

First Year, Examination-2015
CH-02

Organic Chemistry
Time : 3 Hours Maximum Marks : 30

Note : This paper is of thirty (30) marks divided into three (03)
sections A, B, and C. Attempt the questions contained in
these sections according to the detailed instructions given
therein.

uksV % ; g i z' u&i =k rhl  (30) vadksa dk gS t ks rhu (03) [ k. Mksa d ] [ k
rFkk x esa foHkkft r  gSA i zR; sd [ k. M esa fn,  x,  foLr r̀  funsZ' kksa
ds vuql kj  gh i z' uksa dks gy d j uk gSA

Section - A @ [ k. M&d
(Long Answer Type Questions)@( nh?kZ mÙkj ksa okys i z' u)

Note : Section 'A' contains four (04) long-answer-type questions
of seven and half (7½) marks each. Learners are required
to answer any two (02) questions only.

(2×7½=15)

uksV % [ k. M d̂ * esa pkj  (04) nh?kZ mÙkj ksa okys i z' u fn; s x,  gSa] i zR; sd
i z' u ds fy,  l k<+s l kr  (7½) vad fu/ kZfj r  gSa A f' k{kkfFkZ; ksa dks
buesa l s dsoy nks i z' uksa ds mÙkj  nsus gSa A
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1. Write a short note on the followings :
(a) Aromaticity
(b) Hyper conjugation
(c) Marko wnikoff's rule

fuEufyf[ kr i j  fVIi .kh fyf[ k; s &
(v ) , jkseSVhfl Vh
(c) v fr ; qXerk
( l ) ekWjdksuhdkWi Q dk fu; e

2. How will you bring about four of the following  conversions.
(a) Benzenu    Acetophenone
(b) Acetylene    benzene
(c) Bromobenzene   Biphenyl
(d) Ethanol   Chloroform
(e) Diazomethane   Carbene

fuEufyf[ kr esa l s fdUgha pkj i fjorZuksa dks vki  dSl s djsaxs &
(v ) oSUt hu   , l hVhfi QukWu
(c) , l hfVyhu   cSUt hu
(l ) czksekscSUt hu   ckbfi Qukby
(n) bFkSukWy   Dyksjksi QkeZ
(b) Mkb, t kseh; su   dkchZu

3. Discuss any three of the following :
(a) Birch reduction
(b) Ozonolysis of Alkene
(c) Friedel craft acylation
(d) Wourts-Fittig reaction

OM

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fuEu esa l s fdUgha rhu dh O; k[ ; k dhft ; s &
(v ) cpZ v i p; u
(c) , Ydhuks dk vkst ksuhdj.k
( l ) i zQhby ozQkÝV , l hyhdj.k
(n) DVZt &fi QfVax vfHkfozQ; k

4. Complete the following reactions :

fuEu vfHkfozQ; kvksa dks i w.kZ dhft ; s %
(a) CH2 = CH2 + HOCl    AA

(b) CH3 – CH = CH2 + H2SO4    A   B

(c) CH3 – CH = CH2 + NOCl   AA
(d) CH3 – CH = CH2 + CO + H2   A + B.
(e) Write different types of reactions with examples.

mnkgj.k l fgr vyx i zdkj dh vfHkfozQ; k, ¡ fyf[ k, A
Section - B @ [ k. M&[ k

(Short Answer Type Questions) ( y?kq mÙkj ksa okys i z' u)
Note : Section 'B' contains eight (08) short-answer-type

questions of two and half (2½) marks each. Learners are
required to answer any four (04) questions only.

(4×2½=10)

uksV % [ k. M [̂ k* esa vkB (08) y?kq mÙkj ksa okys i z' u fn; s x,  gSa] i zR; sd
i z' u ds fy,  <kbZ (2½) vad fu/ kZfj r  gSa A f' k{kkfFkZ; ksa dks buesa
l s dsoy pkj  (04) i z' uksa ds mÙkj  nsus gSa A

1. Write any two reactions of the allylic hologenation.

, ykbfyd gSykst uhdj.k dh nks fof/ ; ksa dk l ehdj.k nhft ; sA

2O
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2. Write a short note on followings :

(a) Dicls-Alder Rean

(b) Polymerisation

fuEufyhf[ kr i n l af{kIr fVIi .kh fyf[ k; s &

(v ) MhYl &, sYMj vfHkfozQ; k

(c) cgqyhdj.k
3. Write a IUPAC name of the following compounds.

fuEu ; kSfxdh ds IUPAC uke crkb; sA
(i) CH3 – CH – CH – C   CH

| |
Q Q

(ii) CH3 – CH –  CH –  C   C –  CH2 –  CH2 –  CH3

| |
Q Br

4. Discuss the mechonism of the E1 reaction.

E1 vfHkfozQ; k dh fozQ; kfof/  dk o.kZu dhft ; sA

5. Write the structural formula and uses of DDT and BHC.

DDT rFkk BHC ds l ajpuk l w=k rFkk mi ; ksfxrk ds ckjs esa fyf[ k; sA

6. Discuss the mechanism of nitration in benzene.

cSUt hu esa ukbVªhdj.k dh fozQ; kfof/  dks l e>kb; sA
7. Explain followings with reason.

(a) Dipole moment of Bromoform is less than chloroform.

(b) Chloroform preserved in a coloured bottle.
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fuEu dks dkj.k l fgr;  l e>kb; s &
(v ) Dyksjksi QkeZ dh rqyuk esa czkseksi QkeZ dk f}/ zqoZ vk?kw.kZ de

gksrk gSA

(c) Dyksjksi QkeZ dks jaxhu cksryks esa l ajf{kr fd; k t krk gSA
8. Assign configuration (E or Z) to the followings.

fuEufyf[ kr dks E ; k Z foU; kl  nhft ; sA

(i)

(ii)

Section - C @ [ k. M&x
(Objective Type Questions) @ ( oLrqfu"B i z' u)

Note : Section 'C' contains ten (10) objective-type questions of
half (½) mark each. All the questions of this section are
compulsory. (10×½=05)

uksV %[ k. M x̂* esa nl  (10) oLrqfu"B i z' u fn; s x,  gSa] i zR; sd i z' u
ds fy,  v k/ k (½) vad fu/ kZfj r  gS A bl  [ k. M ds l Hkh i z' u
v fuok; Z gSa A
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Write true and false of the followings :

fuEufyf[ kr  dFkuksa ds fy; s l R; @v l R;  cr kb; s%
1. Benzene and toluene are aromatic compound. (True/False)

csUt hu rFkk Vk¡yqbu , jksesafVd ; ksfxd gSA ( l R; @vl R; )
2. Hybridization of methane is SP2. (True/False)

ehFksu esa SP2 l adj.k gksrk gS A ( l R; @vl R; )
3. In benzene the carbon-carbon bond length is equal.

(True/False)

cSUt hu esa dkcZu&dkcZu cU/  dh yEckbZ l eku gksrh gSA
( l R; @vl R; )

4. The SN2 reaction proceeds with inversion of configuration.

(True/False)

SN2 vfHkfozQ; k foU; kl  foi jhr l s l Ei Uu gksrh gSA
( l R; @vl R; )

5. Primary carbanian is a most stable carbanion. (True/False)

i zkFkfed dkcksZ, uk; u l okZf/ d LFkk; h dkcksZuk; u gksrk gSA
( l R; @vl R; )

6. Which of the following has SP Hyb-ridization :

fuEufyf[ kr eas fdl dk l adj.k SP gksrk gS %
(a) CH3 – CH3 (b) CH2 = CH2

(c) HC   CH (d) C6H6

7. Benzene molecules is :

(a) Tetrahedral (b) Pyramidal
(c) Planar (d) Linear
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cSUt hu dk v.kq -------------- gksrk gS%

(v) l eprq"i Qyuh; (c) fi jk feMh;

( l ) l eryh; (n) js[ kh;
8. Which of the following confirmation of butane is least

stable ?

(a) Skew (b) Anti

(c) Gauche (d) Eclipsed

fuEu esa l s C; wVsu dk l okZf/ d vLFkkbZ : i  dkSu gS %

(v) LD; w (c) , UVh

(l ) xkSp (n) , fDyi LM
9. Which of the following is the least stable alkyl free radical.

(a)  3HC (b)   HCCH 23


(c)   23 HCCH  (d)   CCH 33


fuEufyf[ kr esa l s l cl s vLFkkbZ , fYdy eqDr ewyd gS &

(v)  3HC (c)   HCCH 23


( l )   23 HCCH  (n)    CCH 33


10. Which of the following is not an electrophile ?

(a)
3HC


(b)

2ON


(c) Fe Cl3 (d) NH3
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fuEufyf[ kr esa dkSu l k bySDVªku Lusgh ugha gS%

(v)
3HC

 (c)
2ON



( l ) Fe Cl3 (n) NH3


